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1. RXoAXZERHEX. (SHEk10208, Afk24, BHR2350%, C#lkdm)

(1) a(x —2)? (2) —3(z +y)?

(3) —(x+2y)(z —2y) (4) 10a(3z — 2y)(3z + 2y)
(5) 5(x — 8y)(z + 5y) (6) —a(a+3)(a+7)

(M) +(@+3)(-3) (8) —( +3y)(2x — 4y)
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2. ROAZEPE L. (SH1020%, Afk24, B2 508, Cikdlr)

(1) a(x —4)? (2) —4(z —y)?

(3) —(z + 3y)(z — 3y) (4) 10a(5z — 2y)(5x + 2y)
(5) 5(z —2y)(z + Ty) (6) —a(a+4)(a—8)

(7) %(m +6)(z —6) (8) —-L(w — 3y)(3z — 6y)
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R#HTFAL XFHX EBEAR BB 02 BEESR

1. XoOXzZREHEX (SH15208, A2, Bik2350%, CHhas)

) alo -2 @) 3+
= ax? — dax + 4a = —3x22 — 6y — 3y>
(3) —(z+2y)(z —2y) (4) 10a(3z — 2y)(3x + 2y)
= —(2® — 4y?) = 10a(92% — 4y?)
= —x? + 4y? = 90az? — 40ay?
(5) 5(x — 8y)(z + 5y) 6) —a(a+3)(a+T7)
= 5(x? — 3wy — 40y?) = —a(a® + 10a + 21)
= 52?2 — 152y — 200y> = —a® — 10a? — 21a
(1) & (@ +3)(z-3) (8) —L(x+3y)(20 — dy)
= %(xQ_g) = —%(2x2+2xy— 12y?)
= %;ﬁ -3 = —éw‘q’ — %wzy + 2zy?
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ROXZEHHE L. (SH1520%, A2, B2 508, C#44)

(1) a(z —4)?

= a(x? — 8x + 16)

= ax? — 8ax + 16a

(3) —(z + 3y)(z — 3y)

= —(2* = 9y?)

— _mZ + 9y2

(5) 5(x —2y)(z + Ty)

= 5(2? 4 bay — 14y?)

= 522 4 252y — T0y?

1
(7 §(x +6)(x —6)

(x2 — 36)

x? — 12

W~ w|=

(2) —4(z —y)?

= —4(2% — 22y + v?)

= —4x? + 8xy — 4y>?

(4) 10a(5z — 2y)(5z + 2y)

= 10a(25z% — 4y?)

= 250ax? — 40ay?

(6) —a(a+4)(a—28)

= —a(a® — 4a — 32)

= —a® +4a? + 32a

(8) —%(x — 3y)(3z — 6y)

= — L (322 — 152y + 18y?)
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